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r = 0.672

0.1% cens
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r = 0.712
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r = 0.683
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r = 0.66

0% cens
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r = 0.685
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r = 0.773
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r = 0.816
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r = 0.853
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r = 0.885
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runc = 0.923
r = 0.924

0% cens
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r = 0.932

0% cens

runc = 0.94
r = 0.935

0% cens

runc = 0.799
r = 0.818

1.5% cens

runc = 0.888
r = 0.883

0.1% cens

runc = 0.93
r = 0.93

0% cens

runc = 0.951
r = 0.951

0.1% cens

runc = 0.97
r = 0.966

0% cens

runc = 0.964
r = 0.965

0.1% cens

runc = 0.787
r = 0.804

0.7% cens

runc = 0.893
r = 0.895

0.1% cens

runc = 0.94
r = 0.94

0% cens

runc = 0.958
r = 0.957

0% cens

runc = 0.976
r = 0.976

0% cens

runc = 0.983
r = 0.983

0.1% cens

runc = 0.795
r = 0.804

0.5% cens

runc = 0.913
r = 0.913

0% cens

runc = 0.952
r = 0.953

0% cens

runc = 0.967
r = 0.967

0% cens

runc = 0.987
r = 0.987

0.2% cens

runc = 0.989
r = 0.989

0.1% cens
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